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Jddduoooon

goobooooboboboooobobboooobDbooooobobbooooobobboobobbooo
goooobogoobooboooboooboboobbooboooboobboobbooobooboo
gboooobogooboobooobooobboobboobooobooboboobooobooobo
gboogooboogn

5.1 |[EEE754-1985 00 0000000000000 O0O0O0O

O00PCOWSOOOODOODDOOODOOO IEEEOOOOODOODOOOOOODOODO IEEE754
standard 0000000000000

OO0 IEEE754 0000000000000 20000051 000000000000000000O
0000000000000 0000000000 bitOOO 1bit000000000 bitODOO 10
00000000000 000000000000oo0oDoooooooDoooooooooocCo

rF&E(bi) R
FSE(bit) «FEEE»

R —>

] un G2t (+ 160 |

< &5 E (double) 64 bits >

E ’ 15 bits ‘ .

Hi 3R & #5 E (extended double) 80 bits———————p

64 bits ‘

O 5.1 IEEE754 standard

Fortran 000 0O00OO0OCOCOCOCOOOOCOCOOCOOOO0 1000000 O0ODOU0OOUODOUODODDOOO
10.65387 O

10.65387
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.1065387e+02
.065387e+01
.065387e+1
.065387el
.065387E+01
.065387D+01
.065387Q+01

L i i =

O000000eO EODOQUOO 1000D0D00O0OOO0DOODDOOODOOODOODOD

gooboobooobobooboboobboooboobboobbooboooboobboooboon
gooooboogoobooboooboooboboobboobooobooobooboooboooboo
000000000 (machineepsilon) 0000000000000 00O0O0O0O0O0O0O0OOOOOOO
goooooo

00 51(00O000000)
100000000000000000000001+ey 000000000 ey000000OO0ODO
(machineepsilon) 00000000 mODOO0ODO pO0O0ODO00ODO

e =m 6.1)
gooo
OO0OO0IEEE754 standard 0000000000000

000 273 ~1.1920928955078125 x 10~/
000 272~ 2.2204460492503130808472633361816 x 10716

good

OO0 IEEEZ754 0 0000000000000 00O0DO0OO0O0ODOO0O00O0O0O0O00O0O0O0O00On
0000000000000 (round-offerror) 000 0000000000000 0O0O0O0OOOOODO
do0obo0oboooboobobooboboobooboboo

52 O000OODODOO

oboobooboobooboooobobobob

gboboooboobobboobooboboobobbooboooboboooboobobobooonooon
00000000000000000000000000000000000000000000 200
O00«0000000000000000 (error) 0000000000000 a0000000
(approximation) 0 0O O O

0000000 n=2314159265..00 0000000000000 O00O0U0OrODODOODOODODOO
vbobobotbotbotboobdobobdboboboboboboboboboboboboboonboa
gbooboooboooboooboobooboobobobobobobobobobobobobobobobonDo
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0000000000 (float, double), 0000 (complex) D 00000000000 O0O0OOODOODO
goooobogoobooboog

0000000000000000000000000 (rounding, round-off) 0000000 OO0
000500000000 7000000006000000000000O0O0DOOODOOODOOO

n=31416 ~ 7
DDDDDDD(DDD)D n00000000 rOO00OO
DDDDDDDDDDDDDDDDDDD(error)l:ll:ll:ll:ll:ll:ll]l]l]l]l]EDDDDDDDD
E@=a-a
gooooooooon
O00oo00ooooooooooob0obooooooooooooooooonoo

aE(a) = |E@)| = la —a]

00000 (absoluteerror) 0 0 0000000000000 O0OOODOODOOOOOOOOOOO
(relativeerror) 00000000 vE0DOOOOO

ak(@) _ |a—a
FE@) = il —| - (a #0)
aE(a) =la—al (a=0)
00000000000000000000«0000000000000000000 00000

00 (C0O00000)00070000000000000D000DO00DO0

oobogon
000000 (@COoo0O0obO0000b0D)0000000000000 (D000, valid digits) OO
00000000001000000000000 200000000000 Eum@DOO0O

d = —log,, Erel(2)

000000000007 =314159000000 n00000 7 =3.1415926535000000000
Oo0oooooaoooono)yooood

aE(T) ~ 0.0000026535 = 2.6535 - 107°
rE(T) ~ Eps(T0)/7 ~ 8.44635 - 10~/
d = —log,, rE() ~ 6.073
000000 100 6000000000000 O0OOODODODOO

0ogd 51
1. 000000 e=271828. 0000000000000 e=271830000000000000
ooooolooooooooooo
2.00a=+200000000100 100000000 200000000000000000010
ooooobogooo
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5.3 O0OOODOOO

gbobogobogbboobbogboobbuoobboobooobuoobboobboooboon
gobooobooboboobboobooboboobboobooobooboboobbooobooboo
00000000000000 (morm)00000000O

gboooobogooboobog

00 52000 (norm))
a0000000000000O000O00000O00O0O0OOOO0OOOoOOOO|-oooog
ogog

1. 00040000 |¢|>00000004=00000 |u|=00000

2.000000 (00)0000
llcall = Icl - llall

gooogn
3. 000 ¢, b00000000O0OOOOOOO

lla + bll < lall + bl

0000000000000 000000000000000000000000000000000
0000000000000 0000000000000000000000000000000000
000 (2000)0000

0053000000000 (euclid norm)J2 000 (2-norm))
veC'00O000O00OODOOOOO0 |pl,0000000CO0O0O00

n
vl = Y loiP (52)
i=1
ggoooon
vl = Vv, v)

gboboobooobod

O0O0v=[-1-23]"TeR®000O

vl = V(=12 + (—2)2 + 32 = V14

googd
gboboobogbboobbooboobbuoobboobooobuoobbooboboooboob
goooobogn
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005401000 (I-norm) 0000000 (infinity norm))
veC'O0O0O001000 |0, 000000000 |VleOODOODODOOODOOO

n
vl =) o (53)
i=1

[IVlleo = max [vj] (5:4)
1<i<n

ooooo0O0v=[-1-23]"TeR®000O

il =1-1+[-2[+1[3] =6
[Vllo = max(| - 1,1 - 2,13]) =3

000000000000000000000000000 a=[3+2i1-3i]TeC?000

lally = I3+ 2i] + |1 = 3i] = V(32 +22) + (12 +32) = V13 + V10
lall, = VI3 +2i + 1 - 3iP = V23
lalleo = max(|3 + 2il, |1 - 3il) = V13

good
0003000000000000000000veC"O00000000O00D000 ay,pp, 0000

lIxlly < apglixlly
0000000000000000000005100000000000000000000000C

051 10000000000000000000000000 ay

P21 2 |
ql

1 1| Vn| n
2 1] 1| va
0 1 1 1

0000000 vmO0rn000000000000
00 R?00000000000000000000000000 520000000

00 5.2
l.a=[-52 -3 —4]TeR*0O0]alh, llall, llalle DOO0OODDOOO
2.b=[2+1i 3" e C2OO0|bl, bl Iblle 00000000
3.10000000000000000000000000000000 (00520000000
oooo
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052 |-l Il 1l-lle BBOO000000OODO

54 ScilabOODO0OO0OO0OOO0OO0OOO0OO0OODOOOO0ODOOOOOOOO
0d

0000000 normO00000000O0O000OD0OOOO0OO0ODOOOOOODOOOOODOODOOOLO
gboooobogoo

// 000
norm(vec_v)
norm(vec_v, 1)

norm(vec_v, ’inf’)

oooooo
00000000000000000000000010000000000000000000OO0 (O
0ooo)o

norm(mat_a)
norm(mat_a, 1)
norm(mat_a, ’'inf’)

norm(mat_a, ’fro’)

goobogoo
gbboggbogoboobbuoobboobobooboooobag
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5.5 DD0O0O0OOOO0ODOOODOODOODOODOO

n000000veC'O00000O0O0O0OOCOOOO |W|OOOOOOO

vl = V(v,v)

0000000000000000000000 (length)yDOO0ODOOODOODO
000000000000 wveR"OODODODOOOOOODOOODODOOOOOOOOODOODOOOO
o@ooo*Hooooooooooo

1 2 2 2
5 (<llu = VI + [fully + V1) = llull2llvll2 cos 6

good
goobogo

1 2 2 2
5 (=l + VI + Il + IvIE)

n n n
2 2 2
[— Y lwi—of+ Y i+ ) o
i=1 i=1 i=1
n
= = [Z 21/[1'7)1')
i=1
:2:mw=mﬂ)
i=1

000000 (wv)OOOODOOOOOOOOOOOOO

N —

N =

BN

00 51(0000000000)
000 wveR'OODODDODOOOODOOODOODDOOOD 60000

(u,v)
[[ullz]Ivll2
00000000000 0000000000000000000000 (orthogonal) 00000 = 1/2
oooo

cos O = (5.5)

(5.5 000000000000000wveR'000060000D0D00000000000
00000000O0Ocos'x=00000
u,v
0 = cos™ (ﬁ) (5.6)

l[ulla[[vll2
00ooooooo
00 53

u:[12]T,v:[21]TeIR2DDDuD vODODOO D0 ScilabOOOOODODDODODOOOOOOODODOO
acosx) 0O OOO0OOODOOO

*IDDDDDDDDDDDDDDDDDDDDDD(DDD)DDDDD
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56 000DO0ODODOOODOOOOO

Uo0b0n0000D0D0O0OnDOD0OD0O0000DDOOOO0OO0ODODODOO0O0O0ODODOOO0O0ODLDDO nO
gboooobogn

1 0 0
0 1 0
er=|0ea=| 0 . e=]:
: : 0
0 0 1
ogooooooboooao
01
(%] n
vV = :Zviei
i=1
Up

00000000000000000000000000
O0O0O0Ov=[123"eRPO0000O0O0O0O0O

v =e1 +2e; + 3e;3

oooo
000000000000 {e,e,..,6,)00000000000O00DO0ODOOOO0OOOOO

000 O0O0OoOooo)oooooooo

leidl. =13G=1,2,....,n)
ool OOooboboboboObooObObObOoOooogoogoo

o= (2]
O000000000000o0o0ooUououoooo0 (orthnormal bases) O 0O O O

goboobogboboobboobooboboobboobobooboobbooboboooboob
a,beC'0OOO

@o0)u=-—2 =1,

lallz llall2
(000) v =b - (bu)u (5.7)
O00) v= —

[Iv’1]2

0000000 (OO0 1000)0000(QoOo0oo0oo0oo000000O0)ooOO0OO0O0O0O0O0OO0OO00O0
O0wveC'O0OODDOODOOOOO

gogooboboobbbbobooooodoonbbOb0000o0ooooobbbbbboooooooon
00000000 QrROODOOOOOOOO
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Od 54
1. 6.7 000000000 wvOOOOOOoOoOoOOoOOoOoooo

22a=[12],pb=21"Te R>00000(G.7)000000000000000 w,veR?2000
ooo

57 000O0O0O0OO0ODOOO (pOOO)0ODOOOODOODOOO

00 AeC™ 00000000 (@O0Ob2)00000000000000000000O0O0O0O
(I-1lp,p=1,2,00)00000000000000000 (natural norm) 0000

00 55(@00000000000)
000000000 ||-L,00000000 AeC™ 000000000 AL, 00000000000

Axl
Al = max (5.8)

xeC |[X]],
IXl,=1000000
lIAll, = max [|Ax]|,
I, =1

googoooo

goboooboooboobboobboobooboon

00 52(000000000000000)
00 AeC™"O00000AlL Alle O0ODODDOOOO0ODODODOO

m
Al = max ) la|
1<j<n 4
i=1
n

ANl = max Y jag
1<i<m

=1

O0D0DAeR™O00AOOODOD A(A)DCDODOOAlLD
Al = | /max|A;(AAT)|
1<i<n

llAll2 = max|A;(A)]
1<i<n

nooooo AT=A000

goog

gbobooobogoboobbooboooboobbooboooboobobooboboooboon
0000000 (Frobenius) 0000000



48 050 0OO00O0OO0OOoDoOoooood

00 56(000000000)
AeC™ Q00000000 O0O0OCOO JAlFCO0O0D0CO0O0OOOO

IAllE =

000 AeR?®>2 [

gobogo

lAll = max(| = 1] +| = 5|,| = 3| + [ - 3]) = max(6,6) = 6
lAllo = max(| = 1| +[=3|,[ = 5] + | = 3[) = max(4,8) = 8

000000 A(AAT) =22 -2485, 1,(AAT) =22 +2+/8500000

Al = Vmax(IA1(AAT)|, [A2(AAT)]) = /22 +2 V85

0000000000000000 A0

A= V= 1P+ =32+ | =52 +|-3]2 = V44

oooo
00 5.5
1.00 AQ
-1 -2
B
0oo0o0ooO0lAlL lAllAlF D 00000000
2.00 BO

i -
B=[2+i 1—&]

000000 O00|BlL Bl 1Bl 000000000

5.8 J0O0OOODOODOOOOO

gboooobogooboobboobbooobooooboobbooboooboooboooboo

00 57@000000)
acC'0000aeC'000000O0OO0O0DOOODOOON||-|000000a000000

aE(a) = la -3l (5.9)
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000000 a000000

lla—all _ aE(@) (a + 0)

rEa) = { la"al = aE@ (a=0)

(5.10)

good

000000000000000 AeC™™ 000000 AeC™ 00000aEA), rE(A)0000
000
00000000000000000000000000000000000000000000000

00 58(@MO00000)
0000 AeR™ 0000 x(A) O
K(A) = [|A]l - |A7Y|

0000001, 000000000000000000000000 «1(A4), k2(A), ke(A) D000

ScilabO 0O cond(00O ,000000)0000000000

000000000000 x(A) 000000000 A0DD0O0O000 (ill-conditioned) 00000 O
goooobodoboboobboooboooboboobboobooobooboboobboooboobo
gbobooobogobooboboobobooobooobuoooboon

00 5.6
0000 AeR>? 0000 x1(A) 00 k(A DO OOO



